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Četvrta nedjelja



Konstnantni intenzitet kamate

PRETPOSTAVKA: δ(t) = δ = const.

I Početak poglavlja 3
I Pretpostavka važi do kraja poglavlja 4



Veličine v i δ

Sadašnja vrijednost:
I v(t) = exp

(
−
∫ t
0 δ(s) ds

)
= e−δt

I v := v(0) = e−δt – diskontni faktor

I v(t) = v t

Sadašnja vrijednost zavisi samo od dužine perioda
Vrijednost u trenutku s kapitala C sa rokom dospijeća s + t je:

C
v(s + t)

v(s)
= Cv t



Akumulacija kapitala

F (t) = exp

(∫ t

0
δ(s) ds

)
= eδt

I i = eδ − 1 (konstantna) efektivna kamatna stopa
I 1 + i = δ

I F (t) = (1 + i)t



Diskontna stopa

Konstantna diskontna stopa

d = 1− v = 1− e−δt

Interpretacija:
Kapital 1− d uložen po kamatnoj stopi i se nakon godinu dana
akumulira na 1:

(1− d)(1 + i) =

(
1− 1

1 + i

)
(1 + i) = 1

Dakle, 1− d = v je sadašnja vrijednost kapitala vrijednosti 1.



Diskontna stopa

Jednakost d = iv
I d = 1− v = 1− 1

1+i = i
1+i = iv

I Interpretacija?

1 −→ 1 + i

1− d −→ 1

Sadašnja vrijednost kamate i je d
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Diskontna stopa i neprekidno kamaćenje

Jednakost d = δF (1)∫ 1

0
e−δt dt =

1− e−δ

δ
=

d

δ

Interpretacija?

d = δF (1) = iv !



Diskontna stopa i neprekidno kamaćenje

Jednakost d = δF (1)∫ 1

0
e−δt dt =

1− e−δ

δ
=

d

δ

Interpretacija?

d = δF (1) = iv !



Veličine δ , i , v i d

which confirms that an interest payment of i at time t¼ 1 has the same value as
a payment of d at time t¼ 0. But what sum paid continuously (at a constant rate)
over the time interval [0, 1] has the same value as either of these payments?
Let the required amount be s such that the amount paid in time increment dt is
sdt. Then, taking values at time 0, we have

d ¼ R1
0
se�dtdt

¼ s

�
1� e�d

d

�
ðif ds0Þ

¼ s

�
d
d

�
(by Eq. 3.1.6)

Hence s ¼ d. This result is also true, of course, when d ¼ 0. This establishes the
important fact that a payment of dmade continuously over the period [0,1] has
the same value as a payment of d at time 0 or a payment of i at time 1. Each of
the three payments may be regarded as alternative methods of paying interest
on a unit loan over the period.

In certain situations, it may be natural to regard the force of interest as the basic
parameter, with implied values for i, v, and d. In other cases, it may be pref-
erable to assume a certain value for i (or d or v) and to calculate, if necessary, the
values implied for the other three parameters. Note that standard compound
interest tables (e.g., those given in this book) give the values of d, n, and d for
given values of i. It is left as a simple, but important, exercise for the reader to
verify the relationships summarized here.

Value Of d i v d

In Terms Of

d ed � 1 e�d 1� e�d

i ln ð1þ iÞ ð1þ iÞ�1 i ð1þ iÞ�1

v �ln v v�1 � 1 1� v

d �ln ð1� dÞ ð1� dÞ�1 � 1 1� d

EXAMPLE 3.1.1

Calculate the values of i,v, and d that are implied by d¼ 6%
per annum.

Solution
Using the expressions summarized previously, we have

i ¼ ed � 1 ¼ e0:06 � 1 ¼ 6:184%
v ¼ e�d ¼ e�0:06 ¼ 0:9418
d ¼ 1� e�d ¼ 5:824%

373.1 Interest Rate Quantities



Jednačina vrijednosti
Uvodni primjer

It should be noted that, after multiplication by ð1þ iÞt0 , Eq. 3.2.3 takes the
equivalent form

Xn
r¼1

ctr ð1þ iÞt0�tr ¼ 0 (3.2.7)

This slightly more general formmay be called the equation of value at time t0. It is,
of course, directly equivalent to the original equation (which is now seen to be
the equation of value at time 0), as expected from Eq. 2.7.7.

EXAMPLE 3.2.2EXAMPLE 3.2.2

In return for an immediate payment of £500 and a further
payment of £200 2 years from now, an investor will receive
£1,000 after 5 years. Find the yield for the transaction.

Solution
Choose 1 year as the unit of time. The equation of value at
time 0 is

f ðiÞ ¼ �500� 200ð1þ iÞ�2 þ 1;000ð1þ iÞ�5 ¼ 0

Our earlier discussion indicates that there is a unique root by
Theorem 3.2.2.

Since f (0.08) ¼ 9.115 and f (0.09) ¼ e18.405, the yield is
between 8% and 9% per annum. A first approximation for
the yield, obtained by linear interpolation, is

0:08þ ð0:09� 0:08Þ 9:115� 0
9:115� ð�18:405Þ ¼ 0:0833

i.e., iz 8.33% per annum.

If the yield were required to a greater degree of accuracy, one
might evaluate f (0.085) and interpolate between this and
f (0.08). The yield to four decimal places is, in fact, 8.3248%
per annum.

EXAMPLE 3.2.3EXAMPLE 3.2.3

In return for a loan of £100, a borrower agrees to repay £110
after 7 months. Calculate

(a) The rate of interest per annum,
(b) The rate of discount per annum,
(c) The force of interest per annum for the transaction.

Solution
(a) The rate of interest per annum is given by the equation

100ð1þ iÞ7=12 ¼ 110

from which it follows that i ¼ 0.17749 or 17.749% per
annum.

(b) The rate of discount per annum d is given by the
equation

100 ¼ 110ð1� dÞ7=12

from which we obtain d ¼ 0.15074 or 15.074% per
annum.

(c) The force of interest per annum d is given by the
equation

100eð7=12Þd ¼ 110

so that d ¼ 0.16339 or 16.339% per annum.

Note that, for illustrative purposes, we have found each of i, d,
and d from first principles. It would also be possible find just
one value, say i, and compute the other values from Eq. 3.1.9,
etc.

42 CHAPTER 3: The Basic Compound Interest Functions



Jednačina vrijednosti
Uvodni primjer
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Jednačina vrijednosti
Uvodni primjer

Zaključak
I Ako investitor može da uloži novac negdje drugo po kamatnoj

stopi većoj od i = 0.833 investicija je nepovoljna
I Ako investitor može da uloži novac negdje drugo samo po

kamatnoj stopi manjoj od i = 0.833 investicija je povoljna
I Sadašnja vrijednost investicije obračunata sa kamatnom

stopom i = 0.833 je nula!
I i je interna stopa prinosa (implied yield, internal rate of return,

IRR).

Cilj: definistati i opisati IRR za opšte novčane tokove



Jednačina vrijednosti

I t1, t2, . . . , tn – fiksirani trenuci

I c1, c2, . . . , cn ∈ R
I ci – neto tok novca u trenutku ti
I ci > 0 – prihod u trenutku ti
I ci < 0 – rashod u trenutku ti

I δ – (nepoznati) intenzitet kamate

I i – (nepoznata) kamatna stopa

Pitanje:
Po kojoj (konstantnoj) kamatnoj stopi i je sadašnja vrijednost toka
novca jednaka 0?



Jednačina vrijednosti

Jednačina vrijednosti po i

n∑
k=1

ckv
tk =

n∑
k=1

ck(1 + i)−tk = 0

Jednačina vrijednosti po δ

n∑
k=1

cke
−δtk = 0



Jednačina vrijednosti
Neprekidni slučaj

I ρ(t) – neto intenzitet nočanog toka
I ρ(t) > 0 – intenzitet prihoda
I ρ(t) < 0 – intenzitet rashoda

I δ – (nepoznati) konstantni intenzitet kamate

Jednačina vrijednosti ∫ ∞
0

ρ(t)e−δt dt = 0

Može se razmatrati i kombinovani slučaj sa intenzitetom novčanog
toka i diskretnim novčanim tokom, kao i ranije.



Jednačina vrijednosti
Broj rješenja

I Moguće je da jednačina nema rješenja

I Više od jednog rješenja - interpretacija?

I Jedinstveno rješenje - uslovi?

I Intenzitet kamate određen jednačinom vrijednosti je
jedinstveno rješenje δ0 (ako postoji).

I Interna stopa prinosa ili kamatna stopa određena jednačinom
vrijednosti je jedinstveno rješenje i0 = 1− e−δ0 (ako postoji).



Jednačina vrijednosti
Teoreme

Teorema 3.2.1
Ako niz neto novčanih tokova c1, c2, . . . , cn mijenja znak tačno
jednom onda jednačina vrijednosti ima jedinstveno rješenje.

Teorema 3.2.2
Ako niz kumulativnih vrijednosti novčanog toka A1, A2, . . . ,An,
gdje je Ai = c1 + . . .+ ci , mijenja znak tačno jednom onda
jednačina vrijednosti ima jedinstveno rješenje.

I Dokaz prve teoreme jako lak: neprekidna strogo monotona
funkcija siječe Ox osu tačno jednom.

I Dokaz druge teoreme tehnički zahtjevniji.



Jednačina vrijednosti

Opšti slučaj
I Iznenađujuće komplikovan

I Problematične interpretacije u slučaju više rješenja

I Obimna literatura



Sljedeće neđelje:



Anuiteti
Konačni niz (jednakih) uplata

Anticipativni annuitet (annuity due)
I n godišnjih uplate vrijednosti 1 počev od početka prve godine.
I Sadašnja vrijednost se označava sa än :

än = 1 + v + v2 + . . .+ vn−1 = ä∞ − vn ä∞ =
1− vn

d

Dekurzivni annuitet (immediate annuity)
I n godišnjih uplate vrijednosti 1 počev od kraja prve godine.
I Sadašnja vrijednost se označava sa an :

an = v + v2 + v3 + . . .+ vn =
1− vn

i



Anuiteti sa više godišnjih uplata

I Anuiteti sa m jednakih uplata m puta godišnje.
I Sadašnje vrijednosti se označavaju sa: ä

(m)
n i a(m)

n .



Rastući i opadajući anuiteti

I Prirodno se definišu i rastući anuiteti sa uplatama 1, 2, . . . , n
I Za sadašnje vrijednosti se koriste oznake: (I ä)n i (Ia)n .
I Razmatraju se i opadajući anuiteti sa uplatama n, n − 1, . . . , 1
I Za sadašnje vrijednosti se koriste oznake: (Dä)n i (Da)n .



Ukupna vrijednost anuiteta

s̈n =
(1 + i)n − 1

d
i sn =

(1 + i)n − 1
i

,

s̈
(m)
n =

(1 + i)n − 1
d (m)

i s(m)
n =

(1 + i)n − 1
i (m)

(I s̈)n , (Is)n , (Ds̈)n , (Ds)n , ...



Perpetuiteti
Beskonačni niz (jednakih) uplata

Anticipativni perpetuitet (perpetuity due)
I Godišnje uplate vrijednosti 1 počev od početka prve godine.
I Sadašnja vrijednost se označava sa ä∞ :

ä∞ = 1 + v + v2 + . . . =
1

1− v
=

1
d

Dekurzivni perpetuitet (immediate perpetuity)
I Godišnje uplate vrijednosti 1 počev od kraja prve godine.
I Sadašnja vrijednost se označava sa a∞ :

a∞ = v + v2 + v3 + . . . =
v

1− v
=

1
i



Perpetuiteti sa m godišnjih plaćanja
Anticipativni perpetuitet sa m godišnjih plaćanja
I m godišnjih uplata vrijednosti 1

m počev od početka prvog
perioda dužine 1

m .

I Sadašnja vrijednost se označava sa ä
(m)
∞ :

ä
(m)
∞ =

1
m

+
v

1
m

m
+

v
2
m

m
+ . . . =

1
m

1

1− v
1
m

=
1

d (m)

Dekurzivni perpetuitet sa m godišnjih plaćanja
I m godišnjih uplata vrijednosti 1

m počev od kraja prvog perioda
dužine 1

m

I Sadašnja vrijednost se označava sa a
(m)
∞ :

a
(m)
∞ =

v
1
m

m
+

v
2
m

m
+

v
3
m

m
+ . . . =

1
m

v
1
m

1− v
1
m

=
1

i (m)



Neprekidni perpetuitet

I Neprekidna plaćanja počev od trenutka t = 0.
I Konstantan intenzitet plaćanja r(t) = 1.
I Sadašnja vrijednost se označava sa ā∞ :

ā∞ =

∫ +∞

0
e−δt dt =

1
δ


